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A if the quantity in Column A is greater;
B if the quantity in Column B is greater;

C if the two quantities are equal ;

D if the relationship cannot be determined from the information given.

Column A

1. The number of minutes

Section 1

Column B

The number of seconds
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in 24 hours in 24 minutes
2. 1,300%0.05 13x%5
3x+5=20
Sy+3=23
3: % y
4. p+x Y&z
x<0<y
5. x-=y y—x

l,, Iy and [; are three lines in space.
6. The number of points at
which lines /, and

I, intersect

The number of points at
which lines /, and

I, intersect

Yesterday the average(arithmetic mean) number of cars per hour that passed point P was 34 between 1:00
p.m. and 8:00 p.m. and was x between 2:00 p.m. and 7:00 p.m.

7. X 34
2=y+3=6
8. y -2
) L .4
¢ 777 68
R
(90-y)y
90_ o
s (90—x)

RSL1ST

10. x y
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6 paneks = 10 regins
1 regin = 25 neugins

1 neugin = 25 endgins

11. 1 panek 1,025 endgins
x+y=y
Xy=>y
12, X y
The radius and circumference of circle P are r and c respectively.
13. £ ;—

Two successive discounts of 20 percent and 40 percent are equivalent to a single discount of x percent.
14. X 52

A.B. and C are points on a line. The distance between A and B is twice the distance between A and C.

The distance between C and B is 10.

15. The distance between 10
A and B
16. 57 2
R
S
Figurel Figure2
Circles P and R have the same radius and circles Q and S have the same radius.
17. The area of the shaded The area of the shaded
region in Figure 1 region in Figure 2
a=2 b=4
18. ab a+b
a+b ab
19. The number of 1

i——inch lengths in

a 4—inch length

2(x=5)=10
20. x 5

Brand X golf balls cost $15 for 12 balls.
Brand Y golf balls cost $9 for 6 balls.

21. The average (arithmetic mean) The average (arithmetic mean)
cost per ball for the 12 cost per ball for the 6
brand X balls brand Y balls
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7 / y

l//Land I,//1,
22. X y
3 /45
23. =) (=)= 4
3 (% ) ( =) 0.5
) a>b, c>d, a>c
24. b d
25. The number of inches in the The number of square inches in the
perimeter of a square region with area of a square region with
side of s inches side of s inches

For all real numbers x and y, x®y=x>-y>.
26. 14®15 15®14

x>y
27. PO+0OR OS+0R

The average (arithmetic mean) of 9 numbers is 90. The average (arithmetic mean) of the first 5 of these
numbers is 50.
28. The average (arithmetic mean) 130

of the last 4 numbers

5—-‘

The figure above shows a cylindrical can that has been cut open and flattened.

29. The volume of the can 45
before it was cut open
x>0
30. Vx Vo
Column A Column B
31. g— 1L1
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32. 32+(x+y) x+(y+32)

33. The circumference of circle S The diameter of circle S
The sale price of Mrs. Goodnick’s house was $73,000, 6 percent of which she paid to an agent as a
commission.

34. The agent’s commission $4.,400

35, 5—x

36. x

37. 10% of 60% of x 20% of 30% of x
O is the center of the circle

38. x 60

Each person at a party shook hands exactly once with each of the other people at the party. There was a
total of 21 handshakes exchanged at the party.
39. The number of people at the party 8

40. y b4
41. The sum of the 3 greatest distinct The sum of the 2 least distinct
integers that are less than 2 integers that are greater than —1
IxI4+2=5
42. X -3
43. The area of a triangular region The area of a rectangular region
with perimeter of 50 with perimeter of 50
Bl ol
y z 3
% % 5
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A total of $480 is in a certain cash register. All of the money is in one-dollar and five-dollar bills, and

there are 30 more one-dollar bills than five-dollar bills.
45. The sum of 30 and the number of 105

five-dollar bills in the cash register
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Section 2
Column A Column B
1. 389 20
X _5
3 6
2. x 3
y° e
/
3. 55 b
18 18
18-15 18-12
xO
35°
5. x 50
m<0
6. 3(m+15) 3m+45
7. 200.01-0.009 200.1-0.09
A
8. AC AB

9. The distance traveled by a sports The distance traveled by a sports

car at a speed of 150 car at a speed of 160

kilometers per hour kilometers per hour
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10. X y
A rope, 63 meters long, is cut crosswise into 3 pieces whose lengths are in the ratio 1 to 3 to 5.
11. The length of the longest piece 34 meters
12. The number of integers between The number of integers between
15 and 51 that are squares of integers 6 and 126 that are cubes of integers
13. The maximum number of solid cubes 4

having edges of length ;—meter that

can be placed inside a cubical box

having inside edges of length 1 meter

x(x—-2)=0

14. x 1
m is an integer.
15. The remainder when m’*-m 1
is divided by 2

16. 500x14 1,000x7

x=10 and y=5
17. (x—y)? xX—y?

L
w

The perimeter of the rectangle above is 16.

18. W+L 4
x#0
19 x+1 1
’ x x

A cord that is 20 meters long is cut into three sections.
20. The length of the longest section The sum of the lengths of the two

shorter sections

Segments RS and MN intersect at point T and are diameters of the same circle.

21. The area of ARTM The area of ASTN
x>y
22, x=y 0
23. The remainder when 43 The remainder when 52
is divided by 5 is divided by 7
Cube C has volume 8 cubic centimeters.
24. The area of one of the faces of cube C 3 square centimeters
25. The number of prime numbers The number of prime numbers
greater than 40 and less than 50 greater than 10 and less than 20
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AK
K

26. K?
27. 2(—x) 3x
m#2
3 m->5
28. = 1 oom

Ms. Smith got an 8 percent cost-of-living raise of $20 per week.
29. Ms. Smith’s new weekly salary $260

(93

The circle has center O.

30. Length of minor arc AB AO+BO
2 3
31. - 1-=-
3 4
3=3
4v=4
32. X y
B,
A ¢ E
H F
The circle above is divided into 8 arcsGof equal length.
33. Length of a line segment Length of a line segment
from A to D from B to E
A total of 400 tickets to a concert were sold, some at $10 each and some at $5 each.
34. The total receipts from $3,000
the 400 tickets sold
35. 80 +x 9+x

/
< //

4
8 D
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L//1,

L//1,
36. x y

y=x+2
37. y-1 x+1

Y
X
C
(xy)
Note : Drawn to scale.

38. x y
39. ;—% 0.11

40. The difference between 2 numbers,

each of which is between 3 and 4

The sum of 2 numbers, each of

which is between 1 and 2

41. (x+x)?

X424

42. The length of the diagonal of a

rectangle with perimeter 20

The length of the diagonal of a

rectangle with perimeter 24

2r=3t

t#0

r+t

E
A

44. Circumference of the

circle with center O

>

(")

d

B

Sum of the lengths of chords
AB, CD, and EF

Mr. Smith traveled a distance of 100 kilometers, half the distance at 40 kilometers per hour and the other

half at 80 kilometers per hour.
45. Mr. Smith’s average speed
for the 100 kilometers traveled

60 kilometers per hour



Section 3
Column A Clumn B
1. 1243 %x?
2. 100.010-0.009 100.000+0.002

x equals 25 percent of 12.
y equals 10 percent of 40.

5 = Y
y x
+_(3)" -2
When x is divided by 25, the remainder is O.
5. The remainder when 0
x is divided by 5

Tractor-trailer T has 5 axles, on one of which there are only 2 wheels. On each of the other axles, there
are 4 wheels. T has no spare wheels and no spare axles.

6. The number of wheels T has 3 times the number of axles T has
1.1 2

7. —+— =
273 5

8. p q

9. The number of walking steps, The number of walking steps,

each of length 0.4 meter, needed to  each of length of 0.5 meter needed to
walk completely along the perimeter walk completely along the perimeter
of a square rug with side of of a rectangular rug with length of
length 8 meters 11 meters and width of 8 meters

The average (arithmetic mean) of 2 positive integers is equal to 31 and each of the integers is greater than
26.

10. The greater of the 2 integers 36

11. x+y b4
For all real numbers p and r.p O r=pr—p-+r.
12. (-4)O5 50 (—4)
13. The sum of 2 and the number of The sum of the number of
edges of a cube vertices of a cube and the number of

faces of a cube




n<0, g>0, and r>0
14. (2n)(2g)(2r) 2[(m)(g)(n)]
P and Q are points on a number line. The coordinate of P is 5 and the distance between P and Q is 12.
15. The coordinate of Q 16

16. The number of hundreds in 834 The number of thousands in 7,234
0.74+0.3+0.8+x=3

17. x 1.1

18. 7+84:L9+10 8+93+10

/>

O is the center of the circle above.
19. «x y

Jane is taller than Peter and Peter is shorter than Karen.

20. Jane’s height Karen’s height
x°=-32
21, x =]
22. The length of a diagonal of The length of a diagonal of
a square with area 16 a square with perimeter 16
23. 3 ( §+%+% ) r—s+5

A/ L/ L/La/L 4
24. 9+ 9+ 9+ 9 9

Point P has coordinates (-1,1).

point Q has coordinates (0,1). _
25. The distance from P to the origin The distance from Q to the origin

26. x*+y x=y
27. The least positive integer that is The least positive integer that is
divisible by both 14 and 21 divisible by both 14 and 28
0 —L R
Y /
P &= S

PORS is a parallelogram and PQ=RT.
28. x y
Mrs. Jones sold two houses for $80,000 each. One house was sold at a 20 percent loss and the other at a

20 percent gain.

29. The gain minus the loss 0




